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Skalierungsquadrat
Wenn die Kantenlängen
dieses Quadrates genau
5 cm betragen hast Du 
den Schnitt richtig 
ausgedruckt
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Skalierungsquadrat
Wenn die Kantenlängen
dieses Quadrates genau
5 cm betragen hast Du 
den Schnitt richtig 
ausgedruckt
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Skalierungsquadrat
Wenn die Kantenlängen
dieses Quadrates genau
5 cm betragen hast Du 
den Schnitt richtig 
ausgedruckt
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Wenn die Kantenlängen
dieses Quadrates genau
5 cm betragen hast Du 
den Schnitt richtig 
ausgedruckt
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Skalierungsquadrat
Wenn die Kantenlängen
dieses Quadrates genau
5 cm betragen hast Du 
den Schnitt richtig 
ausgedruckt
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Wenn die Kantenlängen
dieses Quadrates genau
5 cm betragen hast Du 
den Schnitt richtig 
ausgedruckt
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